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I i 7 Al MR IERAR <F 5% B | # 2 |REHE & $ER | H@m
W B HEEE [FIzharvEr—Tay = 1.0 1 1/9.4/9-6/9
HIEfEeSER)| (XITharvExR—I3v =® 1.0 1 1/9.4/9-6/9
GBY | o id e | = | 10 ! 1/9.7/9
JoUaAR e #8 1.0 1 1/9.8/9
oI e % | 10 1 1/9.8/9
DA YIRIFN FryRILD L & 10 1 1/9.9/9
S jﬂ};ﬁﬁ L) FruRILT L % 10 1 1/9.9/9
R ELRE RHE m3 16.3 16 [16.32 2/3 | 4/9-9/9
avsy—k 18-8-40 m3 57 6 5.72 2/3 | 4/9-9/9
[EFiZity @ 150 m 2.1 2 2.10 2/3 | 4/9-6/9
[BFiZitk e ¢ 250 m 152 15 |15.20 2/3 | 4/9-6/9
BLavy)—k Cc-170 m3 14 1 1.38 2/3 | 4/9-9/9
ERRA RC40 t=10cm m?2 23.0 23 |22.99 2/3 | 4/9-9/9
HR m3 6.7 7 6.69 2/3 | 4/9-9/9
BEEEEHEl BEEESE HaER = 1.0 1 3/3 | 1/9-3/9
B B % 28750 = 10 1 3/3 1/9-3/9
BERER % PYNTEITSoa =X 1.0 1 3/3 | 1/9-3/9
BIEYEEL |HILY—k m3 6.9 7 6.9 3/3 | 1/9-3/9
7w H1 t 1.7 2 1.7 3/3 | 1/9-3/9
T H1 t 1.7 2 1.7 3/3 | 1/9-3/9
w5y BISRFvY =) 1.0 1.0 3/3 | 1/9-3/9
E BTSRFVY = 1.0 1.0 3/3 | 1/9-3/9
sy A#f t 0.1 0.1 0.1 3/3 | 1/9-3/9
E R4 B 1.0 1.0 3/3 | 1/9-3/9
HR m3 8.6 9 8.62 3/3 1/9-3/9
BAL TRt m3 0.7 0.7 |0.69 3/3 | 1/9-3/9
TREER TRE m3 0.7 07 069 3/3 | 1/9-3/9
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WEEEEEB(XICharvExr—T3Y)
e L w HES s (E1§|/8 4I(J)) i P?f 150) F?gﬁz%o? HLavyy—t ikl RiE | R
(m) | (m) | (m) |(BFD (m3) (m) (m) (m3) (m3) | (m2) | (m3) | (m3)
A 0.6 0.6 0.5 12 2.16 - 6.00 0.29 0.59 5.88] 5.00 1.96
B 0.5 0.5 04 10 1.00 - 4.00 0.18 0.36 3.60( 2.70 1.16
C 04 04 04 5 0.32 - 2.00 0.06 0.13 1.25( 0.94 0.43
D 0.3 0.3 04 4 0.14 1.60 - 0.03 0.06 0.64| 048 0.25
E 0.5 0.3 0.2 2 0.06 - - 0.02 0.05 0.48| 0.26 0.13
F 0.7 0.2 0.2 3 0.08 - - 0.04 0.07 0.72| 040 0.21
G 0.8 04 04 8 1.02 - 3.20 0.18 0.36 3.60 2.70 1.14
H 0.3 0.3 0.2 6 0.11 - - 0.05 0.10 0.96| 0.53 0.27
I 0.3 0.3 0.5 1 0.05 0.50 - 0.01 0.02 0.16| 0.14 0.06
Wi 1.0 05| 0.05 3 - - - 0.08 - - 0.15 -
W2 1.0 1.0/ 0.05 3 - - - 0.15 - - 0.30 -
H 494 2.10 15.20 1.09 1.74] 17.29| 13.60 5.61
TS aHE
o= | EESTOU=F [RER | AR Ny =
e L w H =2 71?3'/8 40) (61500 | (dosey | HLA¥IU—F ikl RiE | R
(m) | (m) | (m) |(BFD (m3) (m) (m) (m3) (m3) | (m2) | (m3) | (m3)
A 04 04 0.3 6 0.29 - 0.08 0.15 1.50( 0.83 0.31
H 0.29 0.00 0.00 0.08 0.15 1.50| 0.83 0.31
QISR MER
= | BRaAUF)—F | ARER | ARER . =
e L w H — (18-5-40) (b150) | (bo50y | HLT¥IU—H kel RiE | R
(m) | (m) | (m) |(BFM) (m3) (m) (m) (m3) (m3) | (m2) | (m3) | (m3)
A 0.3 0.3 0.2 20 0.36 - - 0.16 0.32 3.20| 1.44 0.60
B 0.36 0.00 0.00 0.16 0.32 3.20| 1.44 0.60
DOFT VD LEHE
o= | EESTOU=F [RER | AR Ny =
e L w H =2 71?3'/8 40) (61500 | (dosey | HLA¥DU—F ikl RiE | #R
(m) | (m) | (m) |(EFD (m3) (m) (m) (m3) (m3) | (m2) | (m3) | (m3)
A 04 04 0.2 4 0.13 - - 0.05 0.10 1.00( 0.45 0.17
H 0.13 0.00 0.00 0.05 0.10 1.00| 045 0.17
=118
(21?3'—/8—74?))_F P?dnﬂ?o;r (pos0) | LAV TY—h kel RiE | R
(m3) (m) (m) (m3) (m3) | (m2) | (m3) | (m3)
5.72 2.10 15.20 1.38 2.31 ] 2299 | 16.32 6.69
Bt 16.32-6.69/09= 889 m3
(B EHEEREAN)




2 BEBEEHE

O]

@

®

BEHE
15 B H= BAT | BE
AU —MEFE [0.6%0.6%0.4%19+0.8+0.3%0.4%9+0.4%0.4*0.4%7 = 405 m3 | (%)
=F3 U = 120 t | (F8%E)
BEI705 = 040 t | (EE)
Aansy = 010 t | (F8%E)
R 0.6%0.6%0.5%19+0.8%0.3%0.5%9+0.4+0.4%0 57 = 506 m3
287521
5 B H= BAT | BE
V9 —MEIE |0.4%0.4%0.4%22 = 141 m3 | (%)
=F3 U = 020 t | (F8%E)
BEI705 0.10 t | (EE)
BER 0.4%0.4%0.5%22 = 1.76 m3
WwYMZTEITSo0
1H H H%E HBf | HE
) —MMEIE |0.6%0.6%0.4%2+0.4%0.4%0.4%18 = 144 m3 | (%)
EEi3 %) = 030 t | (EE)
HR 0.6%0.6%0.542+0.4%0.4%0.5%18 = 1.80 m3
&t
1H H H%E Bifig -2
V9 —hEE |4.05+1.41+1.44 = 690 m3 D23
mEMS  [1.20+0.20+0.30 = 170 t @2®
BETS5045  [040+0.10 = 050 t 0]
A#05 (010 = 010 t ©)
#E 5.06+1.76+1.80 = 862 m3 0RE)
FRL 8.62/0.9-8.89 = 069 m3 0RE)




